® 6

e 71 : _
4(=39)<x< E(: 5.916) Fr=&5l= x = 50|,




2. —24d®b x (3ab)? + (-2ab*)? + 9a*bh* & IFH3] SHH?

D —a*p? ® —5% @-
a b
D o © =

—2a%b x (3ab)? + (—2ab*)? + 9ab?
9 1
4a?b* ~ 9a?b?

= —2a?b x 9a?b? x

1

= 5 ol




2~
=7

rlo

3. (x—4)(x+4)(x? —|—|:|) = x* =256 9| A] |:|?l'°ﬂ odgr

®-4 @4 ® 8 @12 @)

(x% = 16)(x% + 16) = x* — 256




< |,




5.

x—2y=2x+3y—-1%4 o, o35y ofl T3t A o= Uepd A2
3x+5y -2
@ -10y @ 10y @ 10y +1

@ 10y-1

@—10y+ 1

B

x-2y=2x+3y-1=x2 A5t
x= -5y + 12 Fol 7 Ajo] 5w
3(-5y+1)+5y—2
=-15y+5y+3-2

=-10y+1




)

o

2 Uehfolx 42 §elset
=
=

4
b
7t
5

o, 24
2
o}

st

e

L z70]
AAL BT SRl

b+ 0 o]}

Qg
@ =%




7. a=3% 0], (a9 = 3rolc}. x| FHL?

® 3 @9 @  @s1  © o

a=3% tgatd
(33)(33) _ (33)27 — 381
Sox=281




8. (=8x"y?)° = 215y S| A m+n 9] FHE Fslodat,
=%

>
> = 14

B

(_8xmy2)3 = —2nx15)6

(_23)3 — _9n
on=9

B3m — 415
Som=395

whetA] m 4+ n = 14 0]t




%(2x—y)(3x+2y)—g(x—Qy)(4x+3y) o] AMAONA xy 0] AL

23 47
o> o3 o0z @F os

L (2r-)(35-+29) 91 (9 91 A)= S((-1)x3+2x2) = ol

- (e-29) (4r+3) 91 (o 91 A= (-2 xa+1x3) = 2
o,

web Fol2 A9 xy o] ASE 1 + = ¢ ol

Wl




10, (x-1)(x=2)(x+2)(x + 3)= HAHPE ©f x| ASE Fotoiet,

> E

> HE: -8

B

(x= 1)(x+2)(x-2)(x+3)
=(x?+x-2)(x>+x-6)

x? +x =12 S}

(x> +x-2)(x* +x-6)
=(t-2)(r-6)

=12 -8t+12

= (x> +x)2-8(x2 +x)+ 12
=+ 23+ x> -8x2 - 8x+12
= x* +2x° - Tx° —8x+ 12

=> x o] A4 -8




v S FtASI =HA st n o WeE Aot (H,
1<n<200 ¢ A5
> = 7h
> Hehl 97
n - n
42 2x3xT

whebA] n & 3x 7 =21 9 Bj$eott

200+ 21 =9.52--- o|B2 9] 75 97) o]t}




12.

>
> =g 108

a 1
140 ~ 22x5x7
kBT NS u Bxjo] 70] QOB R 4= 7x 7 =490|t},
Z70M a7} 90 < a < 1000] 22
a=2x7% =980t}

2% 72 7 7
P57 2x5 10 Vib=10
a+b=98+10=108

x a7l §3tAaGo|BR gL 79] HjSo]1l 7]




13. x =24 0, K(X) = a2 A3}, ojuf, K(24(m-2) + 42m-6) o] Zh-o
T-stodzt,

> E

> H™eh: 4

24(m—2) = 42m=6 _ 9a
94m-8 22(2m—6) — 94m=8-4m+12 _ 94

Ta=4




14. f(x)=3s ol g g [ ]t
F2)x f(=3) = £5) = £(_))

cCh "
=Y

| 2
> HE: -6

f@)x f(=3)+ f(5) =32 x33+35
=37 = f(-6)




2 _
15. %:o%}m,xﬂﬁ%%ﬁ}ﬂa}. (T x£1)

cCh "
H =

>
> ®™et: 3

od -

B

x(x-1)-3x+3

—x+1 0
—x(-x+1)+3(-x+1) 0
—x+1
-x+3=0

Cx=3




